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1	Introduction
During RAN2-NR-AH1807 (July 2018, meeting minutes in [1]), it was discussed and decided to adopt the changes related to A4 and A5 with respect to the serving cell definition [2]. However, it also became apparent during the offline discussion #56 that companies still have divergent views whether serving cells can be also considered as neighbours for the remaining events Ax (i.e. A3 and A6). In particular, the following text from 5.5.4.1 of [3] was interpreted in various ways:
	5>	for events involving a serving cell associated with a measObjectNR and neighbours associated with another measObjectNR, consider any serving cell associated with the other measObjectNR to be a neighbouring cell as well;



This paper is aimed at providing ultimate clarifications on that subject. 
2	Discussion
2.1	A3 and A6 – LTE behaviour
In NR event A3 is defined as follows [3]: “Neighbour becomes offset better than SpCell”, whereas A6: “Neighbour becomes offset better than SCell”. One of the companies involved in offline discussion #56 at TSG-RAN WG2 AH-1807, indicated that LTE behaviour states that “serving cells can trigger A3 and A6”. Another company shared different understanding, saying “serving cell (SCell) can also trigger A3 Event, while only non-serving neighbour cell only trigger A6”. Yet another view was presented by the discussion’s rapporteur who thought in none of these two events a serving cell is involved (involved as a “neighbour” in the A3/A6 definitions provided above). Taking all that into account, it is quite evident we are still far from a common understanding and clarity here.
Observation 1: [bookmark: _Ref521338237]The clarification whether serving cell can be considered as a neighbour for events A4 and A5 has triggered another debate: how should it be interpreted regarding A3 and A6.
A valid observation was provided during the aforementioned offline discussion #56, referring to [4], where Annex J.3.4 was present. It was meant to describe measurement intricacies after the introduction of carrier aggregation (CA) in LTE. Figure J.3.4-1 in [4] nicely explains this relationship: 
· Serving cell (SCell) can be considered as a neighbour when event A3 is evaluated
· For A6, only intra-frequency neighbours of the SCell are considered

Observation 2: [bookmark: _Ref521338249]In LTE SCell can be considered as a neighbour for event A3 evaluation, while only intra-frequency SCell’s neighbours are taken into account for A6.
The Annex J.3.4 has been removed from TS 36.300, starting from v10.3.0.
2.2	Should NR deviate from LTE’s principles?
If RAN2 is able to unanimously agree the understanding outlined in 2.1, it shall be decided next whether there are any sufficiently good reasons to deviate from this behaviour in NR. In our understanding, it would be fine to have the possibility to compare the SCell with the PCell/PSCell as a part of A3 evaluation (as this event allows to have a direct “cell versus cell” comparison, not “cell versus threshold”), provided this neighbour is in a separate Measurement Object (if it is in the same, then there is no possibility to have an SCell there..).
When event A3 is being discussed, it is worth pointing out another interesting aspect: according to the current definition of A3, PCell cannot be compared with the PSCell. However, one can easily imagine a scenario, where a role swap is to be executed (i.e. PCell becomes a new PSCell, whereas PSCell becomes a new PCell). Then, in such “cell versus cell comparison”, event A3 would be a perfect candidate to do the job. Nevertheless, according to the current principles, such comparison is not possible.
Observation 3: [bookmark: _Ref521584185]RAN2 may also consider if “PCell versus PSCell” comparison could be supported, in NR’s event A3 or as a part of another similar event.
Regarding A6 – it also does not appear to be justified to abandon the principle adopted in LTE and allow to compare one SCell against another SCell. This would not be possible anyway with the known principles of CA or DC, and while maintaining the intra-frequency restriction, as given in the following excerpt concerning A6 [3]:
	1>	for this measurement, consider the (secondary) cell corresponding to the measObjectNRassociated to this event to be the serving cell.
NOTE:	The reference signal(s) of the neighbour(s) and the reference signal(s) of the SCell are both indicated in the associated measObjectNR.



In addition, if both the “neighbour” and the SCell would be serving cells probably there is no need to configure a measurement event, such as RRC-level A6, to obtain the knowledge concerning their signal quality/level. 
As a result, we propose the following:
Proposal 1: [bookmark: _Ref521338264]The NR’s behaviour concerning events A3 and A6 (whether SCell can be a neighbour) should follow the LTE principles.
However, this would require some changes and minor clarifications in the NR RRC specification [3]. Thus, we have prepared a corresponding draft change request in [5]. 
Proposal 2: [bookmark: _Ref521338275]RAN2 is kindly asked to adopt the change request submitted in [5].
3	Conclusion
This TDoc analysed measurement events A3 and A6 in the context of including SCell as a potential triggering cell. The following observations and proposals have been made in the paper: 
Observation 1: The clarification whether serving cell can be considered as a neighbour for events A4 and A5 has triggered another debate: how should it be interpreted regarding A3 and A6.
Observation 2: In LTE SCell can be considered as a neighbour for event A3 evaluation, while only intra-frequency SCell’s neighbours are taken into account for A6.
Observation 3: RAN2 may also consider if “PCell versus PSCell” comparison could be supported, in NR’s event A3 or as a part of another similar event.
Proposal 1: The NR’s behaviour concerning events A3 and A6 (whether SCell can be a neighbour) should follow the LTE principles.
Proposal 2: RAN2 is kindly asked to adopt the change request submitted in [5].
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